LEld] #= XitH

KH

oK

Il
Kio
oF

, SAA

X ChH
o

Etel THHHO
L= S8 HEUR WU 2UR, 22LFI0F [0, LR,

(-

Ul

ol
Ulo

$10

(o]
=

b

[
=

’

=

N

Jlo

LSSl =219 28 10cm 0[&0[E It

i At =

=SMEHE ot <
MBS £S5 1D

Ct

ok

KJ

&l

-

ar
1

D
KK

O

]
e

j

JF HEELICH L
Ol &0l LIS E BIOIOF ot 1mUiLIS AJI=

X
o L

[ 15~20cm

St
=

PN
=

tCt.

—

S

=< A
—
=0 o

S
N =

X118 ~ 23

i

&)

HA 2~3HE A

—

=

=0/ 22|
ctA

K

JI
03

oll

F

LIS E %OI 20cm WHelz &

J

K0
z]

&0

RT

HH,

0

Ol A

20

JI

ol
al

oF
Iy
ki0

N o o2

= O Xl X
JHAIDI
f0l Blgs HMA

CC =

-/ L

pS|

Ol THoll LI E EYY =NUZ At
Jb Hiszet A= ZIHA
LS A

22
=

Ot =L,
80|
HSE L2710

=il

i

-
1o

I

I D=2

o

=
(-



i)l

-l

10

Al

e Z2ot

0

L 2120 2A&

A

3
olll

ol

|

A S0l O

X o
T T

JAIBIE0 =25 Fd

3

HX
o

A

H

O

(o
I

P2 AP ZdotHl AetHLE D120l =0t 27°C0late 120

SN

-

s

I 23T W2l

1o

ol

i

S0l =71

BN

10

Kk

ol
OHU

Mr
A

Rl

I9)

19}
ur

o)

15 ~

o ES AMOl=

2 E%

24

JUJ
Il

[
i

—_

uJ

—_

~J

wor
<k

10

=N

H BHA 28 Al A2

Olgel Ul

==

RO

Tm&

i
[u—

[ R
=T

=2
=

F

&E9

ujn

i)

Ol LFb8kAl

KIl
i

ol
b3

_|

=0l 0o H

(tH

<0
oll

X

t= JI=20l Wd

o

tOIDF /ULt M2 20°COl

XS0 et X

INPAR=

H

Al &2

Rl

[0

O
I
3

O

<0

~

LH

KA
K

o

<

-

ol

o)



